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http://paul-matthies.de/Schule/Trimino.php?style=3&color1=000000&color2=11980C&font1=gruschudru&font2=gruschudru&thema=Present Simple and Continuous&A1=I+_+the+dishes+at+the+moment.&A2=am+washing&B1=Dad+_+the+dishes+every+day.&B2=washes.&C1=Susan+_+her+homework+after+school.&C2=does&D1=I+_+my+homework+today.&D2=am+not+doing&E1=Listen%21+Someone+_+in+the+shower.&E2=is+singing&F1=I+always+_+in+the+shower.&F2=sing&G1=We+_+to+the+cinema+every+month.&G2=go&H1=They+_+to+the+cinema+this+evening.&H2=are+going&I1=_+toast+for+breakfast%3F&I2=Do+you+eat&J1=What+_+now%3F+A+burger%3F&J2=are+you+eating&K1=I+_+it%27s+cool.&K2=think&L1=Sue+_+of+her+birthday+party.&L2=is+thinking&M1=I+_+a+teacher.&M2=am&N1=You+_+very+rude+today.&N2=are+being&O1=The+cildren+usually+_+their+toys+away.&O2=put&P1=Look%21+That+man+_+something+in+that+box.&P2=is+putting&R1=_+to+rap%3F&R2=Do+you+listen&S1=Norman+_+PS4+games+at+weekends.&S2=plays&T1=Susan+_+the+trumpet.+What+a+noise%21&T2=is+playing&U1=I+_+a+lot+of+tea.&U2=drink&V1=_+a+hot+chocolate%3F&V2=Are+you+drinking&W1=Sam+_+Star+Wars.&W2=is+watching&X1=We+_+lots+of+comedies.&X2=watch&Y1=I+_+a+bike+to+school.&Y2=ride&Z1=She+_+a+bike+to+school+today.&Z2=isn%27t+riding&AA1=Mum+_+tomato+soup+for+dinner.&AA2=is+cooking&AB1=Dad+_+pasta+on+Sundays.&AB2=cooks&AC1=I+_+my+dog+in+the+park+every+day.&AC2=walk&AD1=I%27m+sick.+Dad+_+my+dog.&AD2=is+walking
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to the cinema this evening.
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